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Which of the following is a method of measuring primary production?

a. Lightand dark bottle method b. Harvest method
¢. Neither a nor b d. Bothand b
Which is the popular method to calculate Diversity?

a. Shannon’s index b. Simpson’s index
¢. Similarity index d. Pielou’s index

Under steady state conditions, the essential material available most closely
approaching the critical minimum needed is known as:

a. Shelfcrd’s Law of tolerance b. Shelford’s Law of minimum
¢. Leibig’s Law of tolerance d. Liebig's Law of minimum

The organisms have an ecological minimum and maximum with a range in between
which represents:

a. The limit of depth b. The limit of species

¢. The limit of tolerance d. The limit of minimum tolerance
Honey bees, coral reefs, phytoplankton, butterflies are the examples of:

a. Ecological succession b. Ecological indicators

¢. Ecological trophic levels d. Ecological population

Ecological indicators help us determine:
a. Ecological impact and ecological load  b. Pattern diversity
¢. Melapopulation d. Pollution

Which one of the following is not a measure of central tendency?
a. Mean b. Median

¢. Mode d. Standard deviation
The formula to calculate the mean value is given by:

a. Mean=x1+x2+..+xnn b. Mean=x1+X2

¢. Mean=Xnm/X1+X2 d. Mean=x1=x2/xnm

Consider the given dataset with the odd number of observations arranged in descending
order - 23, 21, 18, 16, 15, 13, 12, 10, 9, 7, 6, 5, and 2. What will be the median no.?
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Consider the given dataset 5, 4, 2,3, 2, 1, 5, 4, 5. What will be the mode?
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formula for calculating:

a. Mode b. Median
¢. Standard deviation d. Standard error
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1. Define Community. Describe n ati | ative characteristics
of community in brief with pro
2. Wrile notes on:
a) Paleoecology
b) Life forms and biological s

3. What is Ecosystem? Describe
with special reference to Y-s
4. What is Primary productivi
methods of primary produc
5. Whatis Liebig's law of the m
6. Write a note on Ecological
7. What is Biostatistics? Descril
8. Write short notes on: G

a) Central Tendency
b) Standard deviation and .




